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{
-Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin indicate full marks

for the questions.

PART-A (% -5
Q. No. 1 (i-wvi) carries 1 mark eacl 1x6 = 6
Q. Nos. 2 =7 carry 2 marks eacl Wi 2X68=i12
Q. Nos. 8 =11 carry 4 marks each 4x4 =16
Q. No. 12 carries b marks 6x1 = 6
Total = 40

PART-B (¥ -92)
Q. No. 13 (i-wvi) carries 1 mark each 1x6= 6
Q. Nos. 14 - 19 carry 2 marks each 2x6 = 12
Q. Nos. 20 - 23 carry 4 marks each’ x4 = 16
Q. No. 24 carries 6 tmarks 6x1= 6

Total = 40
Total (PART A & B): 40+40=280
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PART-A /F-5io%

Define involuntary unemployment.

1
Sz RS ke o7 |
What is effective demand ?
1
Afey stz 2
What do you understand by depreciation of capital ? 1t
TR wAE e [ gEl?
GNP = GDP -
(Fill in the blank)
i
GNP = GDP - i a2
| 75 )
What is foreign exchange market ?
¥

R & qae e

Which of the fellowing transactions are included ; h
- I the current

i

account of Balance of Payment ?

ﬂﬁ?ﬁ%ﬁﬂ@?ﬁ%ﬁﬂﬂ@ﬁﬁ%@ﬂtﬁﬁmﬁw
fa Rt o

(@) Import and Export of goods
TS Sl o TR

(b) Import and Export of services
IR S iR S90S

[2]

s

(00 Unilateral transfer

(d) - All of the above

\G95q FAENIS
(Choose the correct option)

(@5 Teacsl R Cleredl)

Write the differences between GDP at market price and GDP at factor cost.

2

TGF 759 GDP 9% TAiMe Tae GDP-X TigE L BRI
OR /®2_1

Write one similarity and one difference between intermediate goods and

capital goods. _ | IR

TR W S YK TR 4T A Fe 5 2 =i

What do you understand by ‘Paradox of Thrift’ ? 2

e 1 RregfeR A e & e
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OR/=133r

8  What is investment multiplier ? If a new investment of Rs. 300 crore

What is aggregate supply ? EXPla§n. _ R 2 : i increases National Income by Rs. 1200 crore, calculate the value of
AT @6 T2 I A 4R :
AN e T=i2 o _ ‘ _ investment multiplier. In this case, what will be the value of MPC ?
1+H14+2=4
4. Write fwo differences between direct tax and indirect tax ) ; ] ! '
e T ST EE IS NG 70 ANky B R wors 2 2f0g 300 (I Bl men RFcaical SIS S 1200 G <
AA s S 5 i T G o NelF lcﬂl 3 E ’ -
| 3% o0, Corg RRGEN @o=R= N 991 91 | GZeRTe, MPC-= 31 {59 292
5. What are the components of high-powered m‘ : -
(0] ? ; /
. ney ) | OR/e94}
THRIOTE WE CAMEE & {5 Aoy '
Briefly discuss the components of aggregate demand. 4
OR/%2/q;
AfaE BifEais AR FRERC Sens 91 |
Define Bank Rate and Cash Reserve Ratio
' 1+1=2

@SF TR TR F9i AT ST Fewa) Bl | ' '
9.  Write differences between the following concepts : (any two) 2+2=4

6. Write fwo differences be

el giRdPTEs Mes A1y &) 2 (Rieaen 7519)

tween Balance of Payment and Balance of Trade

2 - (i)  Autonomous investment and Induced investment.
AT 7! W= AT AR TeR 757 st B | |
f oy R i et & |
7. Wirite in brief the ideas of fixed exchange rs Pk ' ‘
chiange rate and flexible exchange rage, ( (ii) Ex-ante consumption and Ex-post consumption.
7 ity R,
f RS TR el TATEI W (12 TeACels |
fog [for 27 o ofRediia Rivag BERRIcE o) U0 i '
32T ECON (4] . ; Gl
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(iii) Marginal propensi :
(iti) ginal propensity to consume and Marginal propensity to save :
: ) - OR /7241

- Zifee Soitein HRAel SR 2w ey sade | | ' | | '
' A R , Define the following : UL 1+1+1+1=4

woro TS kel (o 8

(iv) Marginal propensity to consume and Averac :
_ : ‘ &€ propensity to consume.

A (i)  Fiscal Deficit
gifes THrein @99l % 5C Teoireis) eizer | .

. | . - | SR O
(i)  Primary Deficit

10. Discuss four main functions of Central Bank

4 CIRIEEARAIE
(PR ([ 5101 I TR SIS 35 | - | | |
- ! ~ (iii) Planned government expenditure
sifElEe baisl Ud
OR /%447
‘ : (iv) Non—pianned government expenditure.
Explain how commercial banks cr : S IPSISIEEEI
Create credit. i | IRGEOIRIRSNS 4§ |
e @ @EmE 29 7R |
S % PE ARG /=G ;
12. . Explain how GDP is calculated using Income method. 6
‘ oY HEfes AYTS EEME GDP it 71 28, TR 9 |
11. . Discuss the components of Government Budget '
' 4 _
2 OR /%721
IR SR TR DN 3531 | | |
- . Discuss the reasons why GDP can’t be used as an index of country’s weltare.

6

GDP & (7 S¥=3 TN 7P esl IR SRS GRS e SeEva S |

32T ECON L6
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13. ()
(i1)
(iii)

32T ECON

PART-B / 4-sied

Define sustainable development. :
7 1l

T THINS AL &R |

During British rule, decay of Indian handicrafts was caused b
A RO e

1

fafor *FmrTe SiRes 2BHHT oeqq e Sifte —

(@)  Discriminatory tariff policy of the British Governmengt

@iz b= Reonrre w= Sife

(b) Competition from machine-made products

(¢)  Change in patterns of demand

SifEm e SAfRaes

(d) All of the above
SR FHCHAENS

(Choose the correct Option)

(% Cears
In which year the NITI Aayog was formed ? i @%\jﬁ)
1

i (NITD) Siicaisl i 579 5150 1 Cafae?

[8]

(iv)

What is the difference between ‘Labour Force’ and ‘Work Force’ ?

1

e R T W ARG

()

(i)

Mention orne similarity of the economic policies adopted by India and

Pakistan. 1

TR S AFHIE 4T TV WL e @by Ay TEe 34|

The ‘Great Leap Forward’ campaign in China focused on —

il

BiRe LA §R @1 (Great Leap Forward) SfSming 3= €5

32T ECON

T | G
(a) Privatisation
; aﬁﬂwqh
() Widespread industrialisation

SOOI ISR TR

() Development of services sector

C’@T 2ag [

(d) Economic reform

| weftAfes FEIR

(Choose the correct option)

(%% Gegrh) I Ceel)

. {
[9] Contd.



14.  Mention fwo major industrial sector reforms in the Indian econo1ﬁy under

the policy of liberalisation. g _ )

TR S SR SRS SeRiT Tl 10 A% < B esss A

Tz 391 |
OR/®%7]

Write about fwo positive effects of LPG policies in the Indian economy.

2

wiTey dNIfTs LPG Fifex 76l wivs ook e &l

15. Write two merits of GST. : ' 2
GST-3 75! 5 &7l |

OR /eg<r

What is demonetisation ? Mention one positive effect of demonetisation in
the Indian economy. 2
fRmiee (2 SEe weiifes Rumion @b e 2o See =9 |

32T ECON [10]

16.

7

What is structural composition of an economy ? As on 2021, which sectot

contributed highest to the GDP of India ? - 1+1=2

SR defefe AR B2 2021 bvo @G 193 Oikes GDP (5 (%

e (TaiRE?

OR /%2y

Write fwo characteristics of small-scale industries. 5

=% ToOiE 75! @ ol

Write fwo differences between economic infrastructure and social

infrastructure. 5
OR /25
2

Write about fwo problems faced by the power sector in India.

iaes e 208 T @F 757 WeTR KEe e
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18.

19!

Write any two measures undertaken by the Government of India to

improve agricultural marketing. 7

3R FER TR TR A S S 2 | A G0 e T
OR /241

What do you understand by diversification of agriculture ? 5

SR @b e & @

What are the three main approaches undertaken by Government of India

to alleviate poverty ? 2

el RiRReR i@ SRS 5IE 4% 1 ¥E NS fefn! [ e
OR /@21

Write a short note on MGNREGA. ' )

MGNREGA-3 fqaca vt @6l (i forai |

32T ECON [12]

20. Discuss the goals of planning'in India. 4
CW SfFEEaR SR SNGETEAl 11 |
OR /241
Briefly discuss fwo positive and two negativ.e impacts of Green Revolution.
2+2=4
Give Red 7ol {Ee W.Zﬁ‘fﬁim‘i@ o KT BUCE SeeTvAl <1 |
21 Write a comparative note on the demographic indicators for India, China
A Palkis AT | 4
s AR HOPRE fefes wie, B o AveRT off wemes
Gl dEe 4] |
OR /&=t
(i) ~ Write fwo reasons for rapid economic development in China. 2
Sa wo ST R 751 el B |
32T ECON [13] Contd.



- . : 0 o &) 1 +.'_
What is organic farming ? Discuss its merits and demerits. 1+5=6

(ii)  Write two reasons for slow economic growth in Pakistan. i) 2

AT T2 SO 5 757 <= o | R L

OR /@141

22, Write about different types of unemployment. 4

Fe

What is.Human Capital ? Discuss the sources of human capital formation.

-

[FreR &fen e fEa & 1+5=6
A 75

. 9 WS TEEH 9109 SR SIESAl < |
23. Is economic growth, d cause of environmenta] degradation ? Justify your e L mﬁ? Al ;

answer.

| 4
aaﬁ%éwvrﬁmﬁw@m&ﬁaﬂw e mmz%@zﬁﬁmq%ﬂw %
ST | ' | |
OR /%251
(i) ~ Write two causes of global Wwarming.
2

(TR Tl 9f% 757 el v

(”) uggCSt t'(UO measures 1or attain‘ing sustai
& l !alnabje develO[) n a
S S ures 1 ent n Indic .

SINOTS T2 T e 0T 7 spiger S9IACHIE |

32T ECON [14] . 32T ECON [15]



